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Name:

Midterm 2 (Practice Test)
Calculus of Several Variables
(Math 32A)

U ID:
Question: 1 2 3 4 5 | Total
Points: 5 5 5 5 5 25

Score:




1. |5 points | Find the equation of the plane which contains the point (—1,0,2) and is
parallel to the plane 22 —y — z = 3.
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2. Let @ and ¥ be two unit vectors such that ||ﬁ + 7|| = —. Then compute
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3. Counsider the following parametric equation:

T =acosf +asinf, y=—bsinf + bcosfh, where 6§ is a parameter.

Find a relation between x and y by eliminate the parameter 6.

we e Y
@)1 o0+ LegimOs sm™0 = | +LesOmO
q

\ - LcosOsmo

—_—

v

(4 ERLCE 20a0sm0 + (65*8 =

Hone X4 4% 2
Q b’

Page 4



4. Find the solution of the differential equation with respect to the given initial
conditions:

T(t) = (¢, sint, cost), T(0)=(1,0,1) and T'(0) = (0,2,2).
6= g M - Lot - ok, swk)# T
W k=0, ri(0)= {0;1,2) = (1 ,-1,0) +T
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5. If T (t) is a vector of constant length for all ¢, then prove that T’ (¢) is orthog-
onal to T'(t).
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